frER $=1:10,000

HPPERSE ¢100 i L=136.03m
FEE =136.03n HERE =133 45n
q . :
c E=E = B E % 5 E
L] iy
_ DP=2.97

_ 3,015 1,650 _1,000)

s
.

! E y

} £ HPPE 100
DPO. 80

BkE20 PO.
i)
= %ﬂ HPPERSE 100 &L E L=
& EiE L=136.03m F X ALY
ﬂ um 17 SEEE L=136.03m %K L=133.45m EE A
g2 5 &
35,710 5. 05 490 490 ) 8,200 26,780 34,42 2.43 -
5,000% 7 50005 5,000%6 FRRKE
35,000 , 650 60f60, 4560 430 | 430 _60f60, 430 | 430 60,5.000, 3.080_ 60|60, 25.000 _ 1.660,60|60, =30.000 3 930, 430 | 430 2 00
_— BREAE
m N N ofm m N o|em| m N m N m N Nejv _— b TREKE
- g g g n s |gh| | s - s n s S g<
w E E i ] w w || e | = w E w E N .
o o o HE|l D o o alw B oK B
z S z M| = e e EN
a b a | & a a 3 — | wrre
g g g [ CAE]
H‘H|Uﬁ|n|H|nIU|_|m|HIXIU|_|mIXIH|nIU|_|m|nIU|_|m|nIU|_|m|n|H|xIH|vn Bl
\o.0 \0.0+10.00 0. 0+45. 71 A\ 5 \N0. 1424, 20 \llo. 1+32. 40 \No. 249, 18 \Wo. 2+46. 03 e 2 B
PEG 100 IS MEP 3 SSHBP 0EHREP TS8P
EFE®
o— EFZOMEE
—o— Ah=HLES
SEeS, SELI | o
E L=1.00m &K L=1.47m
—— LFa—4
E —— s
HIVP-TSHZ $50  Eib& L=1.70m —
_EEER L=1.00m kK L=1.47n U HLye S A AL
8
140 0 340 ,_ H_N
hHFE—T BN EEKERRTE
I % 4% -
RE
! HEES | £1080K 3K [ ]

7} B 128
3G IHEF | PHE—TARASN |[RE

R @A FER - BER4

% R " = By
ERFEAH SHE1A128 s

+ @ h oK E




